1Z2RvOC

deanfora qier -1(2015-16)
SUMMATIVE ASSESSMENT -1 (2015-16)
gt fas= / SOCIAL SCIENCE

H&T - IX/ Class - IX

atftreraw 3eF : 90

frerffoa w99 : 3 que
Maximum Marks : 90

Time allowed : 3 hours

grar= T :

(i)

(ii)
(iii)
(iv)

v)
(vi)

78 wvd 93 4 a1 30 999 ¥ 1 Ui wee arframd ¥

TEF T ¥ G 59 3w foE g

T HHE 18 8 T F W UHh-Udh 3idh & ¥ 1 3h I Ueh VIsg 1991 Uah a1 H )|

T¥ HHF 9 20 9% T T 3 3w F1 81 T A vk v 1 S 80 yrea) § atfush & |

=feu | ;
v FHF 21 @ 28 7% WAE W 5 30F #1 ¥ T | TS T w1 SW 120 vy § Afees

g =g
v 0 29 3R 30 WAfeE Tl ¥ 3-3 3% ® wAY: e R e ¥ ¥ s e

F =g Efas #1379 30 Y & < @R 7Y Qe |

General Instructions :

(i)

(1)
(iii)
(iv)
)
(vi)

elof7

The question paper has 30 questions in all. All questions are compulsory.

Marks are indicated against each question.
Questions from serial number 1 to 8 are very short answer type questions. Each

question carries one mark.
Questions from serial number 9 to 20 are 3 marks questions. Answer of these

questions should not exceed 80 words each.
Questions from serial number 21 to 28 are 5 marks questions. Answer of these

questions should not exceed 120 words each. _
Question number 29 and 30 are map questions of 3 marks each, from History
and Geography respectively. After completion, attach the maps inside your

answer book.

m#mwﬁqmwﬁa@aﬁz%ﬁmﬂmmm a1?

In which book did Rousseau mention the idea of one person, one vote ?
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At which ]
‘ ‘l - i
Place does the Ganga emerge from the mountains to the plains?

3 & Tt
R Q) ool % am ferfan fa S wdh Yo poreat &) 1

Name any two states through which Tropic of Cancer passes.

4 Wﬁmﬁnmwmmp . 1

Where are the Andaman and Nicobar islands located ?

5 YRAH S am & U e @ e Tm fafay o) wfaes g ¥ gee T 272
Name the great leader of Indian freedom movement who was not the member of Indian
constituent assembly. * )

6 TS SEsern 3 frarat 1981 ¥ 9o A nfe & #49) ifva fea @ ?

Why did general Jaruzelski imposed martial law in Poland, in December 1981 ?

7 T T | 9 0 FEE R
What do you mean by political equality ?

8 uw fafvaa Y@ ¥ IR q5H F WHR T0H HE /R ?

Name the most common way of increasing production on a given piece of land.

9 widt wifa & 2RE IfaT s FE g AT MY qitEl wt el w1 i st
Describe the style of dressing adopted by the members of the Jacobin club during the French

revolution.

10 1917 ¥ ®F T TR F1 TATE AEA F S & w2 s feafee
Why did Tsarist autocracy collapse in 1917 ? Give reasons.

_ war/ OR

 Fredtarg, wmww%muﬁaﬁﬁaﬁm%u“ Fu ¥ T # A o A |

“Nazism reflects ugly face of humanity  State three arguments in support of the statement.

w4 9 Hifd & ¢ % a4 ¥ GHoER] AL B GHEAT & G BRI 6 WE St )

11
Examine three reasons for the success of socialist economy in post revolution Russia.
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Fifau
“In Nazi Germany all mothers were not treated equally”. Explain the statement with three
examples.

12 ot 2w &1 s wpareen # Afadi 91 viftw w9 Fifow) 3
Explain the role of rivers in the economy-of a country.

13{ MR & Ay fawn #1 3eaa #ifag) sa% fafead 1 off s FifEw) 3
Mention the latitudinal extent of India. State its implications.

3

14 FAq 3 wa o e T i)
Distinguish between folding and faulting.

ﬁm%wﬁmﬁaﬁdﬁ%ﬁﬁﬁﬁmwfﬂxﬂﬁﬁﬁﬁﬁaﬁfﬁmmm%l 3
TH YN F fAaH w1 e F6 A6 fE S 82 B di| SR e

According to rules in India Industries can't put their untreated sewage in rivers. Why such

15

rules are not followed? Give any three reasons.

‘A d e AT F o o i e ¥ g afte 36 afer) weE Hafuei 3 e 3
qfia #1 T G Ud et giias of 90 %1 Fed & AR F o foem s R

‘In a democracy every citizen must be able to iﬂay equal role in decision making. For an equal
right to vote every citizen needs to have equal information and a lot of commitment.” Give

16

your opinion about the statement.

Zfomn s & whaae fmfo &g ST S 998 % 5N fR T wHElid i 9uiF Sifs )
£ - Outline the agreements made by both ethnic groups of South Africa for their constitution.

Hfaym F gEE 1 8 2 39 "o @ 4 faged | fafaw)

18
What is a Preamble? State any two points of its importance.
19 “yrofie G § @RISR U R ® 1! Y <t e i
< “Employment structure is characterised by self-employment in the primary secter’. Explain
the statement.
Yage 3 of 7
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]"\ \l 1 .
Plainany three requirements for the production of goods and services.

2 e ¢ e y
U w1y g 1789 %1 e ¥ w3 Wz a1 a3 wifsa ) 5

Jes v SB AT 4
Describe the incident which took place in the morning of 14 July 1789 in France.

?2 i O 2 i . . -~
B H IR *ifa F a4 s azensl w1 avig Fife) >
Describe the changes which followed October Revolution in Russia.

39ar/ OR
5

AR & fasm ¥ vl yen snol # snen #tww
Explain five major causes of the rise of Nazism.

mﬁqmmaﬁﬁm%ﬁquﬁq{qﬁ%mﬁwm&mwm 5
7 ¥ wE W e Fif

The ancient Indian kings had contributed for the development of different land routes
through the passes of Himalavas. Explain its impact on India.

Tt st Fmtarst i (G FEarsat F1 araar £ 931 5 o wiea o fitm S

24
Describe any five difficulties faced by the framers of the Indian Constitution ?

25 ‘ug Ay Ak F S F o EE @ e <A 6 SWert 3177 ST RO dfed it S
ST | ' :
‘Rulers and the ruled, both are responsible for making of an ideal democracy’. Justify by
giving suitable reasons.

26 ‘‘uwa wi SgUeE FERE % o wEEeT SIS § § T S T 81 SN H WO TR 6 S
Y ¥ TR I |
“India has become one of the favourite markets for all multinational companies." Explain this
statement logically. .

27 @ A U ST T % S A A0 AR R e st v Fife
agedof 7
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dis
Distinguish between the condition ot a farmer who is working in his own farm and a landless

lq]l‘ou‘rpr

28 T T &1 fog 17 ¥ seen Afvne fn, s selsmaen w1 gfwrafa & 7 fw &)

Give examples to prove that population is an asset for the economy rather than a liability.

29 fau gu wig & Tammfas A, B 3k C @7 wewr fafga ford o &) AR & el See & sTuR W 3
g T $1 g iR amfas o fafga Y@t w e wd am fafau
(A)  Wi" F IS U 2
(B) T SAYR A Halud T 9<E
(C) ¥ =t et § ufad U geTmeh!
iz Prefie vy daet gesim wetie & Rk
(29.1) wig ¥ 9 SUFTAV &1 A fehay i e, et S < SR =i et o
(29.2) WG HT FH W S H Fg g 7 TN w7 T ar?
(29.3) TAfera el o gen o7
Three items A, B and C are shown in the given outline map of France. Identify these items
with the help of following information and write their correct names on the lines marked on

the map.
(A) A neighbouring country of France~

(B) A port related to Slave Trade .
(C) A region not affected by the Great Fear »
Note: The following questions are for the visually impaired candidates only:

(29.1) Which colony of France was a supplier of Tobacco, Indigo and sugar ?
(29.2)Which jail in France was attacked and demolished by the agitated people of France ?

(29.3) Where was Napolean defeated ?
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